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Question 3.Find the following squares by using the identities.

(i) (b =7)? (i) (xy + 32)? (iii) (6x* — 5y)?
(iv) (23 m + 32 n)? (v) (0.4p — 0.5q)? (vi) (2xy + 5y)?
Solution:
(i) (b=TP=(b)*—2(b) (T) +(7)?
=b%—14b + 49

[using (@ - b)? = a® — 2ab + b7
(1) (xy + 32)
= (xy)? + 2(xy)(3z) + (32)2
[using (a + b)* = a? + 2ab + b?]
= x%? + 6xyz + 9y?
(iit) (6x* — 5y)?
= (6x%)% — 2(6x2) (5y) + (5y)?
[using (@ - b)? = a? — 2ab + b7
= 36x* — 60x?%y + 2542
Question 4.Simplify:

(i) (a® = b?)? (i) (2x + 5)2 — (2x — 5)? (iii) (7m —8n)? + (7m + 8n)
(iv) (4m +5n)% + (5m + 4n)? (v) (2.5p - 1.59)*— (1.5p — 2.5q)?

(vi) (ab + bc)? - 2ab’c (vii) (m? = n?m)? + 2m3n?

Solution:

(i) (a®-b2)2
= (@)% - 2a%b? + (b2
=a'—2a%? + b*
[using (a - b)? = a® - 2ab + b?

Question 5.Show that:

(i) (3x + 7)> — 84x = (3x— 7)?

(ii) (9p — 5)* + 180pq = (9p + 5q)°

(iii) (43 m =34 n)?+ 2mn = 169 m? + 916 n?
(iv) (4pq + 3q)* - (4pq — 39)* = 48pq’

(v)(a—b)(@a+b)+(b—c)(b+c)+(c—a)(c+a)=0




Solution:

(i) To Show that:
(3x + 7)% — 84x = (3x — T)?
LHS =(3x + 7)% — 84x
= (3x)% + 2(3x)(7) + (7)* - 84x
=9x% + 42x + 49 — B4x
= Ox% — 42x + 49
= (3x)2 = 2(8x) (T) + (7)?

" =(3x -7 =RHS
LHS = RHS
Hence, proved.
(i1) To show that:

(9p — 5g)* + 180pg = (9p + Hg)*
LHS = (9p - 5q)* + 180pg
= (9p)? — 2(9p)(5q) + (5q?) + 180pq
= 81p? - 90pq + 25q° + 180pg
= 81p? + 90pg + 25¢*
= (9p)? + 2(9p) (5q) + (5g)?
= (9p + 5g)*> = RHS
LHS = RHS
Hence, proved.

Question 6. Using identities, evaluate:

(i) 712 (i) 992 (iii) 1022

(v) 5.22 (vi) 297 x 303 (vii) 78 x 82
(ix) 1.05x 9.5

Solution:

(viti) 8.92=(9-0.1)2
=(9)2 - 2(9)(0.1) + (0.1)?
[la — B2 =a? - 2ab + b2

=81-1.8+0.01
=851.01-1.38
= 79.21

Hence, 8.9% = 79.21

(ix) 1.05 x 9.5 =(1 + 0.5) (10 — 0.5)
= 1(10 - 0.5) + 0.05(10 — 0.5)

10 — 0.5 + 0.05 x 10 — 0.05 x 0.5
10 -0.5 + 0.5 -0.025
10.5 — 0.525
9975
Hence, 1.05 x 9.5 =9.975
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(iv) 9982
(viii) 8.92




